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QUESTION 1

Which statement is always true about runtime filters and queries? 

A. Users are limited to three values when using runtime filters. 

B. Runtime filters can be set against fields that are not displayed on the query. 

C. When using runtime filters, the user must apply filters before seeing the results of the query. 

D. Runtime filters allow the system to dynamically alter results (for example based on the record that initiated the query) 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 
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What does this Association Tree diagram definitively indicate? 

A. Wisconsin is mistakenly classified as a World Region. 

B. Wisconsin is not directly associated to North America. 

C. Wisconsin is associated to at least three geography records. 

D. Wisconsin is associated to a record in the triIntermediate module. 

Correct Answer: C 

 

QUESTION 3

Which workflow type gets executed by a subaction of a state transition? 

A. Subflow 

B. System 

C. Synchronous 

D. Asynchronous 

Correct Answer: C 

 

QUESTION 4

A change is made in a state transition configuration in Data Modeler but it has not carried over correctly at runtime.
Why? 

A. The developer did not import the state transition in Data Modeler. 

B. The developer did not click Apply in the state transition properties. 

C. The developer did not publish the form of the base business object (BO). 

D. The developer did not make the change in the base BO in Data Modeler. 

Correct Answer: B 

 

QUESTION 5

Where is a user\\'s new login portal set? 

A. User\\'s profile 

B. User\\'s preferences 

C. User\\'s security group 
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D. User\\'s organization profile 

Correct Answer: A 
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